

Topic → Problem based on linear differential Equation with constant coefficients.

if the Equation is of the form

$$\begin{aligned} f(D)y &= \sin ax \\ \text{or } f(D)y &= \cos ax \end{aligned} \quad \text{provided } f(-a^2) \neq 0$$

Class - B.Sc II (Hons)

Date — By - Samrendra Kumar

Solution → Method for

$$C.F. \Rightarrow f(D) = 0$$

$$\text{for P.I.} = \frac{1}{f(D)} \sin ax \quad \text{or } \frac{1}{f(D)} \cos ax$$

$$= \frac{1}{f(D^2)} \sin ax \quad \text{or } \frac{1}{f(D^2)} \cos ax$$

$$= \frac{1}{f(-a^2)} \sin ax \quad \text{or } \frac{1}{f(-a^2)} \cos ax$$

provided  $f(-a^2) \neq 0$ .

Problem 1 — Solve.

$$\frac{dy}{dx^2} + y = \sin 2x$$

Solution → The given Equation is in symbolic form

$$(D^2 + 1)y = \sin 2x$$

Here

$$f(D) = D^2 + 1$$

Now for C.F

$$f(D) = 0$$

$$D^2 + 1 = 0$$

$$D = \pm i$$

$$\therefore \text{C.F} = C_1 \cos x + C_2 \sin x$$

for P.I -

$$\frac{1}{f(D)} \sin 2x$$

$$\frac{1}{D^2 + 1} \sin 2x$$

$$= \frac{1}{f(-2^2) + 1} \sin 2x$$

$$= \frac{1}{-3} \sin 2x$$

$\therefore$  Complete Solution

$$= \text{C.F} + \text{P.I}$$

$$= C_1 \cos x + C_2 \sin x - \frac{1}{3} \sin 2x$$

$$\frac{d^2y}{dx^2} - 2\frac{dy}{dx} + 5y = 10 \sin x$$

The Given Equation can be written in Symbolic form as

$$(D^2 - 2D + 5)y = 10 \sin x$$

$$f(D) = D^2 - 2D + 5$$

$$f(-1^2) = -712D + 5$$

$$= 4 - 2D$$

$$\text{for P.I} = \frac{1}{4 - 2D} 10 \sin x$$

$$= \frac{4 + 2D}{16 - 4D^2} 10 \sin x \quad D^2 = -1$$

$$= \frac{(4 + 2D) 10 \sin x}{20}$$

$$= \frac{1}{2} [4 + 2D] \sin x$$

$$= \frac{1}{2} \left[ 4 \sin x + 2 \frac{d \sin x}{dx} \right]$$

$$= \frac{1}{2} [4 \sin x + 2 \cos x]$$

$$= 2 \sin x + \cos x$$

$$\text{for C.F. } f(D) = 0 \Rightarrow D^2 - 2D + 5 = 0$$

$$\therefore \text{C.F.} = e^x (C_1 \cos 2x + C_2 \sin 2x) \quad D = \frac{2 \pm \sqrt{4 - 20}}{2} = \frac{2 \pm 4i}{2} = 1 \pm 2i$$

Ans

Complete Solution

$$y = C_1 e^{ix} + C_2 e^{-ix}$$

$$= e^x (C_1 \cos x + C_2 \sin x) + \frac{1}{9} \cos 2x$$

Q. Solve

$$\frac{d^2 y}{dx^2} + y = \cos 2x$$

The Given Equation is written in Symbolic form as

$$\frac{d^2 y}{dx^2} + y = (D^2 + 1)y = \cos 2x$$

$$f(D) = D^2 + 1$$

$$f(D) = D^2 + 1 = -9$$

$$f(-2) = -4 + 1 = -3$$

$$\therefore P.I. = \frac{1}{f(-2)} \cos 2x$$

$$= -\frac{1}{3} \cos 2x$$

So C.F.

$$f(D) = 0$$

$$D^2 + 1 = 0$$

$$D = \pm i$$

$$C.F. = C_1 \cos x + C_2 \sin x$$

$$\therefore \text{Complete Solution} = C.F. + P.I. = C_1 \cos x + C_2 \sin x - \frac{1}{3} \cos 2x$$